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3683 35. 915646000 CP £jitsuappngr > 55098 [ACK] Seq=l Ack=89 Win=65536 Len=1460
3684 35. 915647000 CP £jitsuappngr > 55098 [ACK] Seq=1461 Ack=89 Win=65536 Len=1460
3686 35. 916050000 P £3itsuappngr > 55098 [ACK] Seq=2021 Ack: <1260
3687 35. 916136000 TP fjitsuappngr > 55098 [ACK] Seq=4381 Ack=89 6 Len=1460
3688 35. 916137000 P £jitsuappmgr > 55098 [ACK] Seq=5841 Ack=89 6 Len=1460
3689 35.916139000 CP £3itsuappngr > 55098 [ACK] Seq=7301 Ack=89 Win=65536 Len=1460
3691 35. 916499000 TCP. £jitsuappmgr > 55098 [ACK] Seq=8761 Ack=89 Win=65536 Len=1460
3692 35. 916300000 cP fjitsuappngr > 55098 [ACK] Seq=10221 Ack=89 Win=65536 Len=1460
3693 35. 916501000 cP £jitsuappner > 55098 [PSH, ACK] Seq=11681 Ack=89 Win=63536 Len=1423
3704 36. 004325000 ] TCP f£jitsuappmgr > 55098 [ACK] Seq=13104 Ack=90 Win=65536 Len=0
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3 |1 i — MR TCP 1:65635 2 [i]
3 |2 i — SR upP 1:66635 2 [i]
3 Shm - AR upP 1:65635 2 [i]
e84 Sk - HWiE  TCP 1:655635 2 [i]
85 R — MR TCP 1:65635 2 (i ]
I 6 i — SR upP 1:65635 2 [i]
B |7 Sk — W% TCP 1:65635 2 [i]
I8 Shim = AR upP 1:65635 2 [i]
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https://zhiliao.h3c.com/questions/catesDis/398
https://zhiliao.h3c.com/User/other/25865
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